
7 x 7 = .

8 x 12 = .

4 x 3 = .

6 x 9 = .

9 x 1 = .

11 x 11 = .

121 ÷ 11 =           .

21 ÷ 3  =           .

36 ÷ 3 =           .

Year 5 Homework B – 10th November 2023

Shape

MultiplicationFractions

6 x 7 = .

7 x 2 = .

12 x 12 = .

11 x 3 = .

1 x 144 = .

55 x 0 = .

56 ÷ 7 =           .

25 ÷ 5 =           .

11 ÷ 11 =           .

Addition and Subtraction

Remember to also have a go at TTRS, 
Spelling Shed and Lexia (if you have it)! All 
links are on the class page.

Forgotten your login? Let me know!

Reasoning

Draw these triangles on the square 
grids below:

Complete the factor flowers.
Remember: When multiplied together, two factors 
will equal the product.

Miss Parker is donating toys to charity.
She donates 5,293 to the first charity.
The second charity get 154 more than the 
first.

What is the total number of toys that Miss 
Parker donates to charity?

(Total)                  ?

(Part 1) (Part 2)     

a) Isosceles triangle b) Right-angled triangle c) Scalene triangle

Complete the missing digits. 
Remember: Do you need to add any exchanges?
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